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3-30. When y is zero, the springs sustain a force of 60 Ib. Deter- #3-33. The 10-1b lamp fixture is suspended from two springs.
mine the magnitude of the applied vertical forces F and —F re-  cach having an unstretched length of 4 ft and stiffness of k =
quited to pul point A away from point B a distance of y = 2ft. 5 Ib/ft. Determine the angle § for equilibrium.

The ends of cords CAD and CBD are attached to rings at C and D-

w3_31. When y is zero, the springs are cach stretched 1.5 ft. De-
termine the distance y if a force of F = 60 1b is applied to points A
and B as shown. The ends of cords CAD and CBD are attached to
rings at C and D.
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Prob. 3-33

Probs. 3-30/3-31

+3.32. Determine the maximum weight W that can be supported 334, If the cords suspend the two buckels in the equilibrium

in the position shown if each cable AC and AB can SUPPOrt & position shown, determine the weight of bucket B. Bucket A has a
maximum tension of 600 Ib before it fails. weight of 60 1b.

Prob. 3-32




